2% q o] thsted % o] 7|SkEZ0] T, x = (999 — 0.9) x
Zro] A% uf, x o] H4pe Fatolat.

e
=¥

16 o)
la



TS
= A
= T

D 3

1510 a B &Fot¥ AA47F Frka gieh ojd, 4 ¢

QL 71 2L AFAS=Y

@ 15 B 45 @ 90






stoizt.

4 2% s (2x)3 & PR

4.



B. 42+l = 4209 — 64et & W), a+bO] LS Foteler

& e
-



6. 4122270255272 =16 x 100 & W, x o] Z& Fotoiztk

>R
=%






5] S}E o, x o] A%t

® 3 3 5 @ 7 3B 9

D 1



?

ol
NS

T

4. o1, 18al 2]

S



10.

(Bx+ay—-2)(2x—y+4)E A7
Z&o] golt}. ojuf, a o] Fh2?

@ -3 ® -1 ®

shel 4

0



11.

(x—

@ ® @ 0 ©

3y + 2) 7\47H o]—‘:q(?

x2 +9y? + 4 — 6xy + 4x — 12y
x2 4+ 3y? + 4 — 6xy + 4x — 12y
x% +3y? + 4 + 3xy — 2x + 6y
x% +9y? + 4 — 3xy + 2x — 6y

X2 +3y2 +4-3xy+ 2x -6y



12.

§(6 ~ 3x)
Fefofet,

X
2

(6x —8) —3x = Ax*> + Bx 2t & W], 24 + 3B ] 3=

YR
-



13. B84 x+ 2y = 102 W=ohe x, y o &4 et BE4
dx+y =202 TESte x, y o &4 S T ah& Fohefet
(&, x, y= AAolt)

YER
=%



14.

QLA 6 —y+5 =0

ofzt.

=g
=¥

& 317t (a, 2a)

e

o, a

)
filo



15.

9% AFET 13% 2 A8ES A4 10% 2] 285& 800g< Tt
St olH, 9% ABES FS x, 13% AFEY FSyE BT

AL = Ale-H?

x4y =800
9x + 13y = 10

x—y=2800

© 49 13 goox 10
100" " 100" * 100
x+y=23800

@ { 9 13 goox 10
100" " 100" * 700
x4y =800

®{9 13y = 800 x 2
o Ly =800 g
x—y=3800

@ { 0 13y 10
{100’“ 100 ~ % 100



o2 A 6(x—y)+4y=14--
3x—(2x+2y)=9--

W, p—q ©f #& Fskei=t

5 ER
=%

@
@

9,]B‘H7}-x:p’y:qoa],



A

® 4 3 5 @ 6 B 7

D 2



2?7 (F10<a<20)

oftt. olm, a + b 2| #k

® 43 B3 48 @ 55 ® 59

@D 34



19.

5 =A% (x1, 1), (x2, y2) ol THSFA (x1, y1) X (x2, y2)

x1y2 + y1X2 + xoy2 = 2] ek, ojwf, (x, —2y) x (2x, 5y)
she?

@ xy @ 3xy @ 5xy @ Txy ® 9xy



20. F A x, yoll st «, A & xxy = (8xy% + 4xy?) + 2xy , xAy =

= (x*y) — (xay)
2y — 2 -~ akakeid [e) } 09
(12x%y = 8x%y) + dxy 2 7o o, (ry) F () o] g2

6y + x 6y — x 6y — x
@ Y @ Y y

6y + x 6y — x 6y + x
@ 6y + x ® 3y—x

6y — x 3y+x



